100 CLEAR :WAIT O

120 REM 2008-09-22 1v7° v94h

140 REM 2011-07-10 Yanyy 7 V¥ 3944

160 REM 2011-07-17 Ya19Y9 7°0A" 5 19t4

170 REM 2011-08-06 Y29¥H 10000 0 # 940z

180 AYS="1##. #it#”

200 GOSUB 17700

220 PRINT =PRINT LOCATE 0,0:GLS ‘PRINT “#x Hty Yanyh =1

240 LOCATE O, 1:PRINT “*x TA hY =2 i

260 LOCATE 0, 2:PRINT “*x 3 -4 Jt" 4 =3 “

280 LOCATE O,3:PRINT “xx PG =4~

300 LOCATE 18, 0:PRINT “sx +h° L +¥ =5 7

320 LOCATE 18, 1:PRINT “s* Iv7 yuxyvhiky =6

340 LOCATE 18, 3:INPUT “n"va' % 3 Za%Y3zh => ”;JdU

360 REM Y19y / 5429 ZS Y¥v7°AA° 5 0.655 ZK %1977 07" 5
380 IF JU=1 THEN ZS=0.655:7K=1.213:GOTO 580

400 IF JU=2 THEN GOTO 13260

420 IF JU=4 THEN GOTO 12140

440 IF JU=3 THEN GOSUB 10520

460 IF JU=5 THEN L=1:GOSUB 12140:L=3:GOSUB 5840:L=0:CLOSE

480 IF JU=6 THEN WH$="ENB”:GOSUB 19600

500 IF WH$="T” THEN GOTO 16520

520 IF WH$="K” THEN GOTO 1260

540 IF WH$="ENB” THEN GOSUB 23860

560 GOTO 100

580 “A”: CLS :J=20:PZ=1.2%5/100

600 LOCATE 0,0

620 PV=0:INPUT “Ya9¥9 393" =1 A{yuy-Yay4+ 9y 4=RET ”;PV

640 CLS :AV$=STR$ (PV)

660 LOCATE 0, 0: INPUT "7/ #4%3/4%) m “;KS

680 LOCATE 20, 0: INPUT “#7nn" 7Y/ m “;KE

700 IF KE=0 THEN 640

720 IF KS>KE THEN CT=KS:KS=KE:KE=CT

740 IF PV=1 THEN 880

760 REM sokskokkk R4 Su=1) 1)1 Y7 ) sokokokokok

780 LOCATE 0, 1:PRINT “+4°#/15% = “; (KE-KS) *100*0. 15; :PRINT “cm”
800 LOCATE 20, 1:PRINT “+# #/10% = “; (KE-KS)*100*0. 1; :PRINT “cm”
820 LOGATE 0, 2:LA= O:INPUT “v474hvhy (cm) t vas®sH4z19Y3h=>RET “;LA
840 IF LA=0 THEN 580

860 GOTO 1020

880 CLS :LOCATE 0, 0:INPUT “Ya1vy v4tvan n “,RK

900 B1=(KE-KS)*100/ (RK*2)

920 LOCATE 0, 1:PRINT “#4#v¥" 3n/ huhh +h #CM= "Bl

940 LA=INT (B1) :LB=B1-LA

960 IF LB>0.5 THEN LA=LA+1

980 PRINT “ ”;B1;:PRINT “ =>";LA

1000 B2=(KE-KS) *100-2*RK+LA

1020 LOCATE 0,3:7$="":INPUT "+zh%- #2 -10T7 t vao®Ei44za9Yap “;Z$
1040 IF Z$="-10" THEN GOTO 580

1060 CLS :LOCATE 0, 0:PRINT “7#% CM=DRET M=>1 ~

1080 INPUT PU

1100 IF PU=0 THEN PU=100

1120 LOCATE 0, 1:SW=0:INPUT “YY»7° OA° 3=RET #197°0A" =1 7 V¥' =2 “, SW
140 TF SW<0 AND SW<>1 AND SW<>2 THEN GOTO 1120

160 ANS$="":RR=0:LOCATE 0, 2:INPUT “v474%#45h (=107 £ yages#4z19Y3%)  “;RR
180 IF RR=0 THEN 1160

200 IF RR =-10 THEN 1060

1220 LOCATE 0, 3:ANS$="":INPUT "OK =>ENT v/4/ KEYF#A+ YIZEF Y4¥{zZ190) ”; AN§
1240 IF ANS$<>”” THEN GOTO 100

1260 J=20

1280 DIM KY (J), FU(J, RR), SP (J, RR*2) , PM(J), PS(J), PR(J), FR(10)
1300 IF SW=1 THEN 1560

1320 DIM QS(15), QF (15)

1340 DIM YP(J, RRx2), YS(J) :REM Y199h%4/%

1360 IF SW=0 THEN GOTO 1520

1380 QS(0)=0, QS (1)=0. 01, @S (2) =0. 0493, QS (3)=0. 1199, QS (4) =0. 2098, QS (5)=0. 3099

1400 QS (6)=0. 4297, QS (7)=0. 5699, QS (8) =0. 7097, QS (9)=0. 8698, QS (10)=1. 0396

1420 QS (11)=1. 2094, QS (12)=1. 3997, AS (13) =1. 5893, QS (14) =1. 7898, QS (15)=1. 9999

1440 GF (0)=0, QF (1)=0. 012, GF (2)=0. 063, QF (3)=0. 128, QF (4)=0. 211, QF (5)=0. 311

1460 QF (6)=0 431, QF (7)=0. 579, QF (8)=0. 721, QF (9)=0. 879, GF (10)=1. 059

1480 QF (11)=1.227, QF (12)=1. 402, QF (13)=1. 581, QF (14)=1. 797, QF (15)=1. 99:XL=15

1500 GOTO 1560

1520 QS (1)=8.5, AS(2)=18. 8?(?%237 8,05 (4)=57. 3, 0S (5)=76. 6, S (6)=96, AS (7)=115. 3
)

1540 QF (1)=8, QF (2)=23, QF
QF (9)=229, QF (10) =286 XL=
1560 FOR K=0 TO J

1580 FOR I1=0 TO RR*2

1600 SP (K, 11)=10000:REM #47>»2710000=%3%
1620 NEXT I1

4,
0S(8)=134.7,0S(9)=154, QS (
f =b4, QF (4)=86, QF (5) =115, QF (6)=144, QF (7)=172, QF (8) =200

1
3
0



1640 NEXT K

1660 FOR K=0 TO J

1680 FOR I11=0 TO RR

1700 FU(K, IT)=—-8:REM 7#%7-8=Y3%

1720 NEXT 11

1740 NEXT K

1760 GCLS

1780 IF JU=3 THEN 11160:REM nfLY3 7" -4/3313A

1800 [=-1:S=10000

1820 FOR I11=1 TO RR:REM RRn#4412%

1840 [=I+1

1860 CLS :GOSUB 9560

1880 IF II>1 THEN GOTO 2240

1900 REM *kx %31 / Z19138 sekkskekr

1920 H=0:G=1: GOSUB 8940

1940 IF I=0 THEN KY (I)=KS:B3=0:G0TO 2240

1960 LOCATE 0, 1:KY(I)=0:INPUT “ “;KY ()

1980 IF KY(I)>KE THEN KY (I)=KE

2000 IF KY(I)=0 AND PV=1 AND KY (I-1)+(LA+B2+0.5) /100>KE THEN KY (I)=KE:GOTO 2120

2020 IF KY(I)=0 AND PV=0 AND (KY (I-1)+LA/100)>KE THEN KY (I)=KE:GOTO 2120

2040 IF KY(I)=0 AND PV=0 THEN KY (I)=KY (I-1)+LA/100:GOSUB 18820:GOTO 2120

g?SOZ{EOKY(I)zo AND PV=1 AND B3=1 THEN KY (I)=KY (I-1)+(LA)/100:B3=0:GOSUB 18820:G
2080 IF KY(I)=0 AND PV=1 AND B3=0 AND B2<=0 THEN KY (I)=KY (I-1)+(LA)/100:B3=1:G0

SUB 18820:GOTO 2120

2100 IF KY(I)=0 AND PV=1 AND B3=0 AND B2>0 THEN KY (I)=KY (I-1)+(LA+1)/100:B3=1:B
2=B2-1:GOSUB 18820:GOTO 2120

2120 IF I>=1 AND KY(I)=-10 THEN L=1:KY(I)=0:I=I-1:SP (I, SG)=10000:SP (I, SG+1)=1000

0:GOSUB 9800: GOTO 2600

2140 IF KY(I)=-10 AND II>1 AND I=0 THEN L=1:KY(I)=0:11=I1-1:1=S:GOSUB 10220:SP (I
, $G)=10000:SP (I, SG+1)=10000:GOSUB 9800: GOTO 2580

2160 IF KY(I)=-10 AND I>0 THEN L=1:KY(I)=0:1=I-1:GOSUB 10220:SP (I, SG)=10000:SP (I
, $G+1)=10000:GOSUB 9800: GOTO 2580

2180 IF KY(I)=-1 AND II>1 AND I=0 THEN L=1:KY(I)=0:1I=I1-1:1=S:GOSUB 10220:GOSUB
9800: GOTO 1900

2200 IF KY(I)=-1 AND I>0 THEN L=1:KY(I)=0:I=I-1:KY(I)=0: GOSUB 9800: GOTO 1900
2220 REM *xx7h% / 193] sekrsootokkordork

2240 LOGATE 0, 1:PRINT ” ";KY(I)

2260 IF II=1 THEN 2340

2280 GOSUB 10280

2300 IF G=2 THEN H=14:G=1:GOSUB 8940

2320 LOGATE H, G:PRINT ” “;FUC(I, 11-1)

2340 GOSUB 10280

2360 H=14:GOSUB 8940

2380 LOCATE H+1,G:INPUT “ “;FU(I, IT)

2400 IF FU(I, I1)=-1 AND I>0 THEN FU(I, IT)=-8:1=I-1:SP (I, SG)=0:SP (I, SG+1)=0:FU (I,
[1)=-8:L=1:G0SUB 9800:GOTO 2220

2420 IF FUCI, I1)=-1 AND II>1 AND I=0 THEN FU(I, IT)=-8:1I=I11-1:1=S:GOSUB 10220:F
U(I, IT)=-8:SP(I, $G)=10000:SP (I, SG+1)=10000:L=1:GOSUB 9800:GOTO 2220

2440 IF FUCI, I11)=-10 AND I=0 AND II>1 THEN L=1:FU(I, I1)=-8:11=I11-1:GOSUB 10220:1

=S:FU(I, I1)=-8:GOSUB 9800:GOTO 1900  :REM GOTO 2100

2460 IF FU(I, I1)=-10 THEN L=1:FU(I, I11)=-8:GOSUB 9800:GOTO 1900  :REM GOTO 2100
2480 LOCATE 8, 3:PRINT ~ i

2500 LOCATE 8,3

2520 IF FU(I, IT)<PZ+PU AND FU(I, IT)>0 THEN PRINT “67°=";:PRINT FU(I, I1)*0.6;
2540 IF FU(I, IT)>=PZ+PU THEN PRINT “27°=";:PRINT FU(I, I1)*0. 2;

2560 IF FU(I, IT)>=PZ«PU THEN PRINT “87°=";:PRINT FU(I, I1)*0.8

2580 REM sxxh{TUAm / Za9V3h sekrskokskokorokor

2600 IF II=1 THEN 2680

2620 GOSUB 10300:GOSUB 10240

2640 IF SP(I, SG-2)=10000 THEN 2680

2660 LOCATE 30, G:PRINT “ “;:PRINT USING AY$;SP(I, SG-2)

2680 GOSUB 10300

2700 H=25:GOSUB 8940

2720 GOSUB 10240

2740 LOCATE H, G: INPUT “ “;SP(I, SG) :REM SP #4727

2%8?015638(1,86)2—1 AND 1>0 THEN SP(I, SG)=10000:FU(I, I11)=-8:1=I-1:L=1:GOSUB 9800
2780 IF SP(I, SG)=-1 AND I=0 AND II>1 THEN SP(I, SG)=10000:FU(I, I1)=-8:11=I11-1:G0
SUB 10240:1=S:SP (I, SG)=0:SP (I, SG+1)=0:L=1:GOSUB 9800:GOTO 2600

2800 IF SP(I, SG)<500 THEN SA=I :REM #43° /Y1vy49y4974

2820 IF SP(I, SG)=-10 THEN SP (I, SG)=10000:FU(I, I1)=-8:L=1:GOSUB 9800:GOTO 2240
2840 IF FUCI, IT)<PZ«PU AND FU(I, IT)>0 THEN 3060

2860 IF G=2 THEN G=1 ELSE G=2

2880 IF II=1 THEN 2940

2900 IF SP(I, SG-1)=10000 THEN 2940

2920 LOCATE 30, G:PRINT “ “;:PRINT USING AY$;SP(I, SG-1)

2940 H=25:GOSUB 8940

2960 LOCATE H, G:INPUT “ “;SP(I, SG+1)

2980 IF SP(I, SG+1)=-1 AND I>0 THEN SP(I, SG+1)=10000:SP (I, SG)=10000:FU(I, I1)=-8:1



=1-1:
3000

L1D=

SP (I, SG)=0:SP (I, SG+1)=0:L=1:GOSUB 9800:GOTO 2600
IF SP(I, SG+1)=-1 AND I=0 AND II>1 THEN SP(I, SG+1)=10000:SP (I, SG)=10000:FU (I
0:I11=I1-1:GOSUB 10280:1=S:L=1:SP(I, SG)=10000:SG (I, SG+1)=10000:GOSUB 9800:GO

T0 2600

3020

IF SP(I, SG+1)=-10 AND I>0 THEN SP(I, SG+1)=10000:SP (I, SG)=10000:FU (I, I1)=-8:

L=1:GOSUB 9800:GOTO 2240

3040
3060
3080
3100
3120
3140
3160
3180
)=-8:

IF SP(I, SG+1) <500 THEN SA=I

IF TI=RR AND FU(I, I11)<PZ%PU AND FU(I, I1)>0 THEN SP(I, 0)=SP (I, 0) /RR

IF TI=RR AND FU(I, IT)<PZ*PU AND SP(I, 0)>500 THEN SP(I, 0)=10000

IF TI=RR AND FU(I, I1)>=PZ*PU THEN SP(I, 0)=SP(I, 0) / (RR*2)

IF TI=RR AND FU(I, IT)>=PZ*PU AND SP(I, 0)>500 THEN SP(I, 0)=10000
H=35:G=1:GOSUB 8940

YU=0:LOCATE H, G: INPUT “ "YU

IF YU=-1 AND II>1 AND I=0 THEN YU=0:SP (I, SG)=10000:SP (I, SG+1)=10000:FU (I, II
[=S:11=11-1:GOSUB 10280:SP (I, SG)=10000:SP (I, SG+1)=10000:FU (I, 11)=-8:L=1:G0S

UB 9800 :GOTO 1920

3200

IF YU=-1 AND I>0 THEN YU=0:SP (I, SG)=10000:SP (I, SG+1)=10000:FU(I, 11)=-8:1=1-

1:8P (I, SG)=10000:SP (I, SG+1)=10000:FU (I, 11)=-8:L=1:GOSUB 9800 :GOTO 1920

3220

IF YU=-10 LET L=1:YU=0:SP (I, 0)=SX:SP (I, SG)=10000:SP (I, SG+1)=10000:GOSUB 980

0:G0TO 2600

3240
3260
3280
3300
3320
3340
3360
3380
3400
3420
3440
3460
3480
3500
3520
3540
3560
3580
b =1
3600
3620
3640
3660
3680
3700
3720
3740
3760
3780
3800
3820
3840
3860
3880
3900
3920
3940
3960
3980
4000
4020
4040
4060
4080
4100
4120
4140
4160
4180
4200
4220
4240
4260
4280
4300
4320
4340
4360
4380
4400

IF KY(I)>=KE THEN S=1:1=-1:G0TO 3300

IF 1=S THEN 3300

IF YU=0 THEN 1840

NEXT I

CLS :1R=0:NR=0

IF ZW=0 THEN LOCATE 0, 0:PRINT " 3+h7 1174 => ENT”

IF ZW=1 THEN LOCATE 0, O:PRINT "% 1)19y93%24A3 *3tHT 1174 => ENT”

IF ZW=1 THEN LOGATE O, 1:PRINT " 19441/ **a%Fh)= =17

IF ZW<>1 THEN LOCATE 0, 1:PRINT “* Za9Y39 s*xxgh4=y =17

IF ZW<>1 THEN LOCATE 0, 2:PRINT "% Za9Yajy4a9F7 sk Yantd A => 2 7

IF ZW=1 THEN LOCATE 0, 2:PRINT “* aut{Y429F7 *x ¥ 1 9 €4 => 2 "

IF ZW=1 THEN LOCATE 0, 3:PRINT " 29t{vI= ¥} 2 =3

LOCATE 37, 3:INPUT “”; IR

IF IR=1 THEN CLS :GOSUB 9760: GOTO 3320

IF IR=2 THEN CLS :GOSUB 9060: GOTO 3320

IF IR=3 THEN CLS :GOSUB 19080:ZW=0:GOTO 3320

HA=KY (§) -KY (1)

IF (SW=2 OR SW=0) AND ZW<>1 THEN CLS :LOCATE 0, 0:PRINT “Y1%y43 1944 * A
* Yt{ =2 ” ELSE GOTO 3720

LOCATE 0, 2:PRINT "« 7°0A"5 Y99y / N T4 7Y FARFVH{ +x”

LOCATE 35, 3:INPUT “  “;NR

IF NR<>1 AND NR<>2 THEN CLS :GOTO 3580

IF NR=1 AND (SW=2 OR SW=0) THEN GOSUB 18860

IF NR=2 THEN GOTO 3720

ZW=1:GOTO 3320

GOSUB 19260

FOR I=0 TO S

REM INPUT “SAKI”;TE

IF SW=2 THEN PS(I)=SP(I, 0)

IF SP(I,0)=-100 AND ZW=0 THEN PS(I)=0:GOTO 3960

IF SP(I,0)>500 THEN PS(I)=10000:GOTO 3960

IF SW=0 AND ZW=0 THEN PS (I)=(ZSxSP (I, 0) +3) /100

IF SW=0 AND ZW=1 THEN XS=SP (I, 0) :XL=10:GOSUB 25280:PS (I)=XW/100:GOTO 3960

IF SW=0 AND ZW=1 AND XS=-100 THEN YP(I,0)=0

IF SW=1 AND ZW=0 THEN PS(I)=(ZKSP (I, 0)+3) /100

IF SW=0 AND ZW=0 AND SP(I,0)<0 THEN PS(I)=(ZS%SP (I, 0)-3)/100

hEX§WT1 AND ZW=0 AND SP(I,0)<0 THEN PS(I)=(ZK+SP (I, 0)-3)/100

IF PV=1 THEN GOTO 4300

HS=0

REM #ut% by / fq4y

FOR I=0 TO S

GOSUB 8900

IF I=HS LET P=1:GOSUB 8640: GOTO 4260

IF 1=S LET P=1:GOSUB 8780: GOTO 4260

A1=(KY (I)-KY (1-1)) /2

A2=(KY (I1+1)-KY (1)) /2

B1=(((FU(I-1,0)+FU(I, 0))/2+FU(I, 0)))

B2=(((FU(I, 0)+FU(I+1,0)) /2+FU(1,0)))

IF A1<0 LET A1=-1%A1

IF A2<0 LET A2=-1%A2

PM (1) = (A1%B1+A2xB2) /PU

NEXT I

GOTO 4500

REM IF JU=3 THEN GOTO 4740

FOR =0 TO S-1

FU(T, 0)=(FU(I, 0)+FU(I+1,0)) /2

NEXT I

FOR I=0 TO S-1 STEP 2

GOSUB 8900

/2
/2



4420
4440
4460
4480
4500
4520
4540
4560
4580
4600
4620
4640
4660
4680
4700
4720
4740
4760
4780
4800
4820
4840
4860
4880
4900
4920
4940
4960
4980

A1=(KY (I1+1) =KY (1)) *xFU (I, 0) :PM(1)=A1/PU

A2=(KY (1+2) —KY (I+1))=FU (I+1, 0) :PM(I+1)=A2/PU
REM PRINT “MEM1 “:PM(I);:PRINT “MEN2 “;PM(I+1)
NEXT I

CLS “UU=0

PRINT “t° »Ya9Yay /. 7)b/ Y54 1 Tt

LOCATE 10, 1:INPUT

WAIT :ZE=0: CLS

IF PV=1 THEN A9=0:GOTO 4880

FOR I=0 TO S

IF UU=1 THEN GOTO 4700

CLS :GOSUB 8980

LOCATE O, 1:PRINT “* ) 2.9 Yy #=> ";PS ”(M/SEC)”
LOCATE 0, 2:PRINT “* 7° 7" vfvtd=> " P ( ) "(M2) "
LOCATE 0, 3:PR(1)=PM(I)*PS (I)

IF UU=1 THEN 4780

PRINT 7" 7" JYa%Y39=>

PRINT PR(I) ; :PRINT ~ (MS/SEC)

ZE=ZE+PR(I)

IF UU=1 THEN 4840

Z$=INKEY$ :IF Z$="" THEN 4820

NEXT I

GOTO 5380

FOR =0 TO S-1

A3=0

IF UU=1 THEN 5040

CLS

GOSUB 8980

LOCATE 0, 1:PRINT "* ) 1 9 v 4=> ";PS(I);” (M/SEC)”

5000 LOCATE 0, 2:PRINT “* 7° 7" vhut¥=> “;PM(I) ;" (M2)"”

5020 Z$=INKEY$ :IF Z$="" THEN GOTO 5020

5040 IF PS(I)>500 AND A9=0 THEN U3=1:A9=1:GOTO 5360

5060 IF PS(I)>500 THEN GOTO 5360

5080 IF 1=(S-1) THEN ZA=S-1 ELSE ZA=I

5100 A9=0

5120 FOR I13=U3 TO ZA

5140 A9=0

5160 A3=A3+PM(I3)

5180 NEXT I3

5200 PR (1) =A3*PS (I)

5220 IF UU=1 THEN 5300

5240 LOCATE 0,3

5260 PRINT 7" 7" »la9Y3n=> "

5280 PRINT PR(I);:PRINT ~ (MS/SEC)

5300 ZE=ZE+PR(I)

5320 IF UU=1 THEN 5360

5340 Z$=INKEY$ :IF Z$="" THEN GOTO 5340

5360 NEXT 1

5380 CLS

5400 LOCATE 0,0: WAIT (0)

5420 PRINT "ok +° 3 119137 solototor”

5440 LOCATE 10, 1:PRINT “”;ZE;” (M3/SEC)”

5460 LOCATE 10, 2:PRINT “”;ZEx60;” (M3/MIN)”

5480 LOCATE 10, 3:PRINT “”;ZEx60%1000;"” (L/MIN)”

5500 Z$=INKEY$ :IF Z$="" THEN 5500

5520 MR=0:CLS :LOCATE 0, 0:PRINT "k #4}" 3= ENT

5540 LOCATE 24, 0:PRINT “skx Z29F#9zy = 17

5560 LOCATE 0, 2:PRINT “s*x F{4$)3IZE} ) = 3

5580 IF ZW=1 THEN LOCATE O, 1:PRINT "sekk 2yt{%4 *x  A9F FYa9t{2h= 2
5600 IF ZW<>1 THEN LOCATE O, 1:PRINT “s#x Z19Y3) %k 2Z9F F29t4Alh= 2
5620 LOCATE 24, 2:PRINT “s*x 7 -4%0) = 47

5640 LOCATE 0, 3:PRINT “ssk fza— = )b = b7

5660 LOCATE 24, 3:INPUT “”:MR

5680 IF MR=0 THEN 4500

5700 IF MR=1 THEN IR=1:GOSUB 9760: GOTO 5520

5720 IF MR=3 THEN GOTO 3320:REM vIn 100

5740 IF MR=2 THEN GOSUB 9060: GOTO 3720

5760 IF MR=4 THEN L=1:GOSUB 12160:GOSUB 5860

5780 IF MR=5 THEN GOTO 100

5800 IF MR=3 THEN 3320

5820 GOTO 5520

5840 IF PR=1 THEN 6020

5860 CLS :LOCATE 0, 1:PRINT “* =>Mon-1 Tu-2 We-3 TH-4 Fr-5 Sa-6 Su-7”
5880 LOCATE 0, 0:INPUT “y4744uh yt' 7" »2" 97 200822%/h5%7 “; NEN$
?BOgSQéZLEN (NEN$) : IF AZ<7 THEN LOCATE O, 1:INPUT “39t™ 4" +44/944 +=h%—+£”;ANS$:GO
5920 LOCATE 0, 2: INPUT “v474 ¥ 4v7v 1310 /H4%F Zanyzy  “JI§
5940 LOCATE 0, 3:INPUT “y474¥77#47 21993y “;CH$

5960 ANS$="":INPUT “0K=>100 ~;ANS$

5980 IF ANS$<>”100” THEN 5860



6000
6020
6040
6060
6080
6100
6120
6140
6160
6180
6200
6220
6240
6260
6280
6300
6320
6340
6360
6380
6400
6420
6440
6460
6480

IF L=3 THEN 6140

CLS :LOCATE 0, 0:INPUT “A"—n “;PH$
INPUT “5" ub° 9} “EC$
INPUT “24%Y TINTS
INPUT "%t 5 TP$

ANS$="":INPUT "0K=>100 “;ANS$

IF ANS$<> 100” THEN 6020

CLS :LOCATE 0, 0:PRINT “nb=>1  4®Y=>2 1H4=>3"
LOCATE 0, 1:PRINT “74=>4 1% =>5 1+ =>0"
LOCATE 0, 2:INPUT “L4  12=> nbhb 39%Y ”,HA$
GOSUB 8500

PRINT “#* “;SA$;

PRINT “ sx”;

ANS$:”":INPUT “ ) Fya97 A 0K=>100 “;ANS$

IF ANS$<>“100” THEN ANS$="1":RETURN

OPEN FF$ FOR OUTPUT AS #

IF L=0 THEN PRINT #1, "K"

IF L=1 THEN PRINT #1,°T

IF L=1 THEN PRINT #1,"TA Ny

IF L=0 THEN PRINT #1, "Kn #tv ~

IF L=3 THEN PRINT #1, “NO”

IF L=3 THEN PRINT #1,“NO ntf" L +%”

IF L=4 THEN PRINT #1, WH$

IF L=4 THEN PRINT #1, “ENB n 17" v¥y49iy”

PRINT #1,NEN$:PRINT #1, “9Inaqtq4uh” y&" “:PRINT #1, JI$:PRINT #1, “9Iny9574%" 25"

PRINT #1, CH$:PRINT #1, “91ny474F70" :PRINT #1, HA§:PRINT #1, “91n7v29"

6500
6520

IF L=3 THEN L=0:RETURN
PRINT #1, PH§:PRINT #1, “9zn PH”:PRINT #1, EC$:PRINT #1, “9In 7 v} 9b “:PRINT #

1, WTSPRINT #1, “9Ina{#>”:PRINT #1, TP§:PRINT #1, “9Intty”

6540
6560

6580
6600
6620
6640
6660
6680
6700
6720
6740
6760
6780
6800
6820
6840
6860
6880
6900
6920
6940
6960
6980
7000
1020
7040
7060
7080
7100
7120
1140
7160
7180
7200
1220
1240
1260
7280
1300
1320
1340
7360
1380
7400
1420
7440
1460
7480
1500
7520

IF L=4 THEN CC$=STR$ SU:PRINT #1, CC$:PRINT #1, “9In 2{¥Y cm
IF L=4 THEN PRINT #1, “NA”:CC$=STR$ SH:PRINT #1, CC$:PRINT #1, “9In Y3j1vy /9t

IF L=4 THEN CC$=STR$ V:PRINT #1, CC§:PRINT #1, "9Iny391y $9Z19Y39 “:RETURN
IF L=1 THEN RETURN

PRINT #1, AV§:PRINT #1, “1= Ya9y9393" 0=F"19y" % ~
PRINT #1, SW:PRINT #1,70=>7"0A"3  2=>7" vu¥™ Yagyhhq”
PRINT #1, PU:PRINT #1,“100-cm 1-m”

PRINT #1, S+1:PRINT #1, "yIn V97479297

PRINT #1, RR:PRINT #1, “9In #491 29"

CLS :LOCATE 10, 2:PRINT “4¥/ %3/ %myFa% ”

FOR J=0 TO S

PRINT #1,KY (J)

NEXT J

PRINT #1,74%" 394F/ %3) /) 7 -4 7

CLS :LOCATE 10, 2:PRINT “7h% / 09719 ~

FOR K=1 TO RR

FOR J=0 TO S

PRINT #1,FU(J, K)

NEXT J

PRINT #1 K. “842 284 7 7 -4

NEXT K

PRINT #1, "4%" 3% 7h% / 7 -4

FOR J=0 T0 §

PRINT #1,FU(J, 0)

NEXT J \ \

PRINT #1, 745" 39 M07h% / 7 -4

REM k%% H{TVAY sokokokokkoddokok

EP=0:DP=0

CLS :LOGATE 10, 2:PRINT “#47a% / #0519 ~

FOR K=1 TO RR*2

FOR J=0 TO S

PRINT #1, SP(J, K)

NEXT J

IF EP=1 THEN 7280

KK=K-DP

PRINT #1, KK, “84# Y3979 351 0.69Y/ 947029/ 7 -4
EP=1:DP=DP+1:GOTO 7340

KK=K-DP

EEINT #1,KK, “044 B9 ) wTUR9) T80

NEXT K \ \

PRINT #1, "4%" 3% h470A9/ 7 -4

FOR J=0 TO S

PRINT #1, SP(J, 0)

NEXT J \ \

PRINT #1, 743" 39 MEun47o29/ 7 =57

REM sxxkk 77770 fubd sk

CLS :LOCATE 10, 2:PRINT “7°7°v ivt% / ¥nhfa9 ”
FOR J=0 TO S

PRINT #1, PM(J)



1540
7560
1580
7600
1620
7640
1660
7680
7700
1120
1740
7160
1180
7800
1820
1840
1860
7880
7900
7920
7940
7960
7980
8000
8020
8040
8060
8080
8100
8120
8140
8160
8180
8200
8220
8240
8260
8280
8300
8320
8340
8360
8380
8400
8420
8440
8460
8480
8500
8520
8540
8560
8580
8600
8620
8640
8660
8680
8700
8720
8740
8760
8780
8800
8820
8840
8860
8880
8900
8920
8940
8960
8980
9000
9020
9040
9060
9080
9100
9120

NEXT J

PRINT #1,74%" 3% 7°7° v Jutd) 747
REM %% 1)17Y4 Fokokokkokdokok
FOR J=0 TO S

PRINT #1, PS(J)

NEXT J

PRINT #1,74Y"am Ya9vh 7 74"
REM sk 7777y 1)anl3n  sekokskokskok
FOR J=0 TO S

PRINT #1,PR(J)

NEXT J

PRINT #1,74%" 39 777"y Yaday J 7 -4

REM solotok 47 ) 11137 srorooololor

PRINT #1, ZE

PRINT #1, 7t v Yayyay /J 7 -4

IF ZW<>1 THEN GOTO 8460

EP=0:DP=0

CLS :LOCATE 10, 2:PRINT “Ya%t4v1/Y19yh%nh”

FOR K=1 TO RR#2

FOR J=0 TO S

PRINT #1, YP(J, K)

NEXT J

IF EP=1 THEN 8060

KK=K-DP \

PRINT #1,KK, "4+ 742431 ¥ 39993490. 69Y/Y21%4"
EP=1:DP=DP+1:GOTO 8120

KK=K-DP

PRINT #1,KK, “#4%/ 742431/ hyoT 5”7

EP=0

NEXT K \ )

PRINT #1, "4%" 3% 744431/ Yan)y)7 %"

FOR J=0 TO S

FD=0:YP (J, 0)=0

FOR K=1 TO RRx2

hEX¥PéJ,K)<>1OOOO THEN YP (J, 0)=YP (J, 0) +YP (J, K) :FD=FD+1
IF FD<>0 THEN YP(J, 0)=YP (J, 0) /FD

IF FD=0 THEN YP(J, 0)=10000

NEXT J

FOR J=0 TO S

IF SW=2 THEN PRINT #1, YP(J, 0)

IF SW=0 AND YP(J, 0)>0 THEN PRINT #1, (YP(J, 0)*ZS+3) /100
IF SW=0 AND YP(J, 0)<0 THEN PRINT #1, (YP(J, 0)*ZS-3) /100
IF SW=0 AND YP(J, 0)=-100 THEN PRINT #1,0

NEXT J

PRINT #1, “4%" 3% F4€43T/8¥0Y29Y9”

CLOSE #1

RETURN

REM skokkokkTYAT/AYAY skekkokskordokodkok

Y1=VAL (LEFT$ (HAS$, 1))

Y2=VAL (RIGHT$ (HA$, 1))

IF Y2=0 THEN SA$=T$ (Y1)

IF Y250 THEN SA$=T$ (Y1) +" M} #7+T$ (Y2)

RETURN

REM sskkx #1493 ] 4§77 Y sokkkorskorskok

A1=0. 5 (KY (I+1)-KY (1))

IF A1<0 LET A1=-1xA1

B1=0. 5% ((FU (I, 0)+FU (I+1,0)) /2+FU (1, 0))

IF B1=0 LET HS=HS+1

PM (1) =A1%B1/PU

RETURN

REM skkkt{" ) 577 Y sekkskokokskorsk

A1=(KY (I)-KY (I-1)) /2

IF A1<0 LET A1=-1xA1

B1=((FU(I, 0)+FU(I-1,0))/2+FU(1,0)) /2

PM (1) =A1%B1/PU

RETURN

REM
PRINT “#4#v¥1% “;: PRINT I;: PRINT “/”;: PRINT S
RETURN

gé&T 0:LOCATE H, G:PRINT ~ “:RETURN

LOCATE 0, 0:PRINT I+1;"N V4 4" 0iv) A9~
RETURN

REM
CLS
CLS :LOCATE 0, 0:INPUT “* Ya%tdn' va'm 3 Zanyay +=> ;1
[F 1>0 THEN [=I-1

[F I<0 OR I>S THEN 9060

WAIT O




9140 FOR 11=1 TO RR

9160 L=1:1R=1:GOSUB 9800

9180 GOSUB 10300:LOGCATE 0, G:PRINT ~

9200 LOCATE 0, G: INPUT KY (I)

9220 L=1:1R=1:GOSUB 9800

9240 LOCATE 14,G:PRINT ~ ”

9260 LOCATE 14,G:INPUT FU(I, II)

9280 L=1:1R=1:GOSUB 9800

9300 LOGATE 25, G:PRINT ”

9320 LOCATE 25, G:GOSUB 10240: INPUT ° 4)V¢X »SP (1, SG)

9340 IF SW=2 AND SP(I, SG)<>-1 AND SP(I. $6) <>-10" AND SP (I, SG) >=QF (1) AND SP (I, SG)

<=QF (15) THEN XS=SP (I, SG) :GOSUB 25280 ELSE GOTO 9380

9360 SP (I, SG)=XW

9380 L=1:1R=1:GOSUB 9800

9400 LOCATE 31,G

9420 INPUT “zym#”;SP(I, SG+1)

9440 IF SW=2 AND SP(I, SG+1)<>-1 AND SP(I, SG+1)<>-10 AND SP (I, SG+1)>=QF (1) AND SP

(I SG+1)<=QF (15) THEN XS=SP (I, SG+1) :GOSUB 25280 ELSE GOTO 9480

9460 SP (I, SG+1)=XW

9480 L=1:1R=1:GOSUB 9800

9500 NEXT 11

9520 RETURN

9540 REM

9560 LOCATE 0,0

9580 LOCATE 0, O:PRINT I+1;"*%3Y (M) *2MYY *BU E-17

9600 IF IR=1 THEN 9720

9620 LOCATE 2,2

9640 PRINT “v1=”

9660 LOCATE 0, 3

9680 PRINT "-103F3”

9700 LOCATE 33, 3:PRINT USING “##”;11;:PRINT “#491"

9720 RETURN

9740 REM

9760 FOR 1=0 TO S

9780 FOR 11=1 TO RR

9800 CLS :GOSUB 9560:GOSUB 10300

9820 LOGATE 0, 1:PRINT KY(I)

9840 LOCATE 14,G

9860 IF FU(I, I1)<>-8 THEN PRINT FU(I, II)

9880 IF I1>1 THEN LOCATE 14, U:PRINT FU(I, 11-1)

9900 IF SP(I, SG)=10000 THEN 9940

9920 GOSUB 10240:LOCATE 25, G:PRINT USING AY$;SP (I, SG) ;

9940 IF SP(I, SG+1)=10000 THEN GOSUB 10240:GOTO 9980

9960 GOSUB 10240:LOCATE 31, G :PRINT “-";:PRINT USING AY$;SP (I, SG+1)

9980 IF II>1 AND SP(I, 1)=10000 THEN 10020

10000 IF II>1 THEN LOCATE 25, U:PRINT USING AY$;SP(I, 1);

10020 IF II>1 AND SP(I, 2)=10000 THEN 10060

10040 IF II>1 THEN LOCATE 31, U:PRINT “-";:PRINT USING AY$;SP(I,2)

10060 IF L=1 THEN 10120

10080 LOCATE 3, 3:PRINT sk +2fi A%+ KEY J £Ab Y3 2 ZRA sork”

10100 IF TI<ORR THEN 10140

10120 Z$= INKEY$ : IF Z$="" THEN 10120

10140 IF L=1 THEN GOTO 10200

10160 NEXT 11

10180 NEXT 1

10200 L=0: RETURN

10220 REM

10240 SG=(11-1)*2+1

10260 RETURN

10280 REM

10300 IF I

10320 IF I

10340 IF %
I

10360 IF
10380 IF
10400 IF II=
10420 RETURN
10440 REM
10460 LOCATE 1, 3:PRINT “* Ya9¥4F 7=19Y3% Yastdh +hbn” RETH- *

10480 RETURN

10500 REM *#x " -4774) / 3t° 7 Y pokopoRkok

10520 CLS :LOCATE 0,0: AN$— CINPUT “77407 hH79 V347 E F ”;NA$

10540 LOCATE 0, 1: INPUT 774»%4 “NS$

10560 NA$=NA$+":"+NS$+" TXT”

10580 LOCATE O,2:AN$="":INPUT “0K=100 “, AN$

10600 IF AN$<>7100” THEN 220:REM 3800

10620 OPEN NA$ FOR INPUT AS #1

10640 INPUT #1, WH$: INPUT #1, KU$: INPUT #1, NEN$: INPUT #1, KU$: INPUT #1, JI$: INPUT #1
,KU$: INPUT #1, CH$: INPUT #1, KU$: INPUT #1, HA$: INPUT #1, KUt

10660 IF WH$="NO” THEN GOTO 10720

OOODODOD
IS
N =R — N —
cccacac
[T
N =N =




10680

INPUT #1, PH$: INPUT #1, KU$: INPUT #1, EC$: INPUT #1, KU§: INPUT #1, WT$: INPUT #1

KU$: INPUT #1, TP$: INPUT #1, KU$

10700
10720
10740
10760
10780
10800
10820
10840
10860

10880
10900
10920
10940
10960
10980
11000

80

GOSUB 8500

CLS :LOCATE 0, 0:PRINT “#7v4
LOCATE O, 1:PRINT “v47{4vv%*
LOCATE 0, 2:PRINT “v474¥" 1
IF WH$<>“NO” THEN GOTO 10860
LOCATE 0, 3:PRINT “+h” L+%”:CLOSE

Z$=INKEY$ :IF Z§="" THEN 10820

GOTO 100

AN$="":LOCATE 0, 3:PRINT SA$;:AN$="":INPUT “ 1/774h7 347 Ah OK =DRET “;AN$

IF AN§<>””  THEN 10520

IF WH$="T" OR WH$="ENB” THEN GLS :RETURN
INPUT #1, AA$:PV=VAL (AA$)

INPUT #1, AA
INPUT #1, AA$:SW=VAL (AA$)
INPUT #1, AA
INPUT #1, AA$:PU=VAL (AA$)
INPUT #1, AA
éNgU¥ #1, AAS:S=VAL (AA$)
INPUT #1, AA
INPUT #1, AA$:RR=VAL (AA$)
INPUT #1, AA
RETURN

CLS :LOCATE 10, 2:PRINT “%3Y / M)azfan”

FOR K=0 TO S

INPUT #1, AA$:KY (K)=VAL (AA$)

NEXT K

INPUT #1, AAS

CLS :LOCATE 10, 2:PRINT “7#% / M)azFan”

FOR K=1 TO RR

FOR J=0 TO S

INPUT #1, AAS:FU(J, K)=VAL (AAS$)

NEXT J

INPUT #1, AAS

NEXT K

INPUT #1, AA$

FOR J=0 TO S

INPUT #1, AAS:FU(J, 0)=VAL (AAS$)

NEXT J

INPUT #1, AAS

CLS :LOCATE 10, 2:PRINT “h47vA7h)azFan”

FOR K=1 TO RR*2

FOR J=0 TO S

INPUT #1, AA$:SP (J, K)=VAL (AAS$)

NEXT J

INPUT #1, AAS

NEXT K

INPUT #1, AAS

FOR J=0 TO S

INPUT #1, AA$:SP (J, 0)=VAL (AAS$)

NEXT J

INPUT #1, AAS

CLS :LOCATE 10, 2:PRINT “7° 7" vivtp)azFan”
FOR J=0 TO S

INPUT #1, AA$:PM(J)=VAL (AAS$)

NEXT J

INPUT #1, AAS

CLS :LOCATE 10, 2:PRINT “Ya1y4hYa3fay”

FOR J=0 TO S

INPUT #1, AA$:PS (J)=VAL (AA$)

NEXT J

INPUT #1, AAS

CLS :LOCATE 10, 2:PRINT “7° 7" vYa%Yayp)azfan”
FOR J=0 TO S

INPUT #1, AA$:PR(J)=VAL (AAS$)

NEXT J

INPUT #1, AAS

INPUT #1, AA$:ZE=VAL (AA$)

INPUT #1, AAS

CLOSE #1

CLS

GOTO 3320

REM sksokskskok %% yqn 7° 07 Jh sekokskokskokskskoksk

CLS :POKE &HBFD35, 0, 255, 0, 80

IF PR=1 THEN PRINT =PRINT

PRINT “#kx y9yu3G 77047 Fh sokokr”

CLS :LOCATE 0,1

= ”;CH$
“NEN$
" J1$




12240 INPUT ~ hﬁ/ﬁ AN y9yvIh 3477 EORF 7 FQ$

12260 FQ$=FQ$+":"

12280 LOCATE 0, 2:AK=DSKF (FQ$)

12300 PRINT F0$:ZPRINT “J) A99379 = 7;:PRINT USING “#ittt#t” ; AK;
12320 PRINT “n° 4}

12340 IF PR=1 THEN PRINT =LPRINT

12360 ANS$="":LOCATE 0, 3

12380 INPUT “0K =>RET NO =>100 “;ANS$

12400 IF ANS$<>”” THEN CLS :GOTO 12220

12420 CLS :LOCATE 0,0

12440 INPUT “Y9%vAl 349 30940 7740 “FF$

12460 ANS$=""

12480 IF L=1 THEN FF$=FQ$+FF$+". TXT”

12500 IF L=0 THEN FF$=FQ$+FF$

12520 INPUT “0K=100 “ANS$:IF ANS$<>“100” THEN 12160
12540 IF L=1 THEN L=0:RETURN

12560 GLS :PRINT “7y7°m-F (y9¥v)=[U]"

12580 PRINT "&“ﬁ)ﬂ—b“(9“19))=[D]":BEEP 1

12600 INPUT ~ I$

12620 IF (I$<> U ) AND (I$<> D”) THEN 12560

12640 IF I$ HEN ~

12660 GOTO ” D

12680 “U”:OPEN “COM:1200,N, 8, 1, A, L, &H1A, X, S” AS #1

12700 OPEN FF$ FOR INPUT AS #2

12720 CLS

12740 PRINT “v9%uah 7740 " FF$ \

12760 PRINT “n°vay/9-7"0 3 ¥ 1900y 398429505 44 17

12780 INPUT “OK(Y)?”;1$:1F 1$<>”Y” THEN 12780

12800 PRINT “———- YIyuFay ————— “:BEEP 1

12820 A$=INPUT $ (1, #2)

12840 IF EOF (2) THEN PRINT #1, CHR$ &H1A:CLOSE :PRINT :PRINT “sxx HuY39 Y394 sk
$x” :GOTO 100

12860 PRINT A$;

12880 PRINT #1, AS;

12900 GOTO 12820

12920 “D”:OPEN “COM:1200,N, 8, 1, A, L, &H1A, X, S AS #1

12940 OPEN FF$ FOR OUTPUT AS #2

12960 PRINT “n°vay/9-7"0 3Y 99097 45 #4417

12980 A$=INPUT $ (1, #1) :PRINT “"——— ¥ 1¥vF19——":BEEP 1:GOTO 13020
13000 A$=INPUT $(1,#1)

13020 IF (A$=CHR$ &H1A) OR (A$= CHR$ &HOC) THEN PRINT #1, CHR$ &H11:CLOSE :PRINT :
PRINT ~ *** YA YIVE k" GOTO

13040 PRINT AS$;

13060 PRINT #2, AS;

13080 GOTO 13000

13100 “LD”

13120 ANS$="":PRINT "9*193 Y48 770" 34 3 388 YeAn”

13140 INPUT “OK=RET ?~ ANS$ IF ANS$<>”” THEN “END”

13160 PRINT “O-F YF4va 1117

13180 POKE &HBFD35 2,223, 4 80

13200 KEY 0, “LOAD" +CHR$ 34+FF$+CHR$ 34+CHR$ 13

13220 "END":BEEP 2:POKE &HBFD35, 2, 223, 4, 80:END

13240 REM sk F° 41/ 744y
13260 CLEAR :CLS :MC=30:K=0:UK=0:UJ=0:PED=2:NE=0
13280 GOSUB 17700

13300 DIM QY (MC), YT (MC), YK (MC), QQ (MC), TT (MC), KK (MC)
13320 DIM QS(3), YS(3), TS(3), KA (MC)

13340 CLS :LOCATE 0, 0:PRINT USING “#i#t” ;K+1;

13360 INPUT “#42=Y"hY (SEC) #x—1F Fpasek YT (K)
13380 IF YT(K)=-1 THEN K=K-1:GOTO 13720

13400 IF YT(K)=0 THEN GOTO 13340

13420 TT(K)=YT (K)

13440 LOCATE 0, 1:PRINT USING “###” ; K+1;

13460 INPUT “#44-3m% /7 I3y (L) “3YK (K)

13480 IF K=0 THEN GOTO 13520

13500 IF YK(K)=0 THEN YK (K)=YY

13520 IF YK(K)=0 THEN GOTO 13440

13540 YY=YK (K) : KK (K) =YK (K)

13560 QY (K)=YK (K) /YT (K)

13580 QQ (K) =QY (K)

13600 UK=UK+YK (K) :UJ=UJ+YT (K)

13620 LOCATE 0, 2

13640 QW=QY (K) %60

13660 PRINT “9aYay (L/MIN)“;USING “HititiHtttt. #i” ; QW
13680 LOCATE 0, 3:AN$=""":INPUT “OK=DRETURN%- NO=>Y/4%- “ AN$
13700 IF AN$<>”” THEN GOTO 13340

13720 IF K<2 THEN GOTO 13820

13740 GOSUB 13880

13760 IF NE=2 THEN GOTO 13260

13780 IF NE=0 THEN GOTO 13820




IF NE=3 THEN GOTO 100
K=K+1

GOTO 13340

REM
GOSUB_ 15120

F9=0:7L=0. 95:7H=1. 05:GOSUB 15320

IF M1>=ZL AND M2<=ZH THEN F9=1:GOTO 13980

IF F9=0 THEN ZL=0.9:7ZH=1.1

IF M1>=ZL AND M2<=ZH THEN F9=1:GOTO 14060

IF ZL=0.95 THEN CLS :LOCATE 0, 1:PRINT “ 44" v " USING " ###” ;M1
IF ZL=0.95 THEN LOCATE 0, 2:PRINT “ %" 394"y “;USING “#i#. #i##" M2

IF ZL=0.95 THEN HJ=0:LOCATE 0, 0: INPUT "7 443 YayY3y ab =1 ? “;HJ
IF HJ=0 THEN RETURN

IF ZL=0.9 THEN CLS :LOCATE O, 1:PRINT “ 4% v " USING " ###” ;M1
IF ZL=0.9 THEN LOCATE O, 2:PRINT “ ¥ 394"y “;USING “#i#. #itt" M2

IF ZL=0.9 THEN HJ=0:LOCATE 0, 0: INPUT “20%F & ¥2%Y3% ah=1 ? “;HJ

IF HJ=0 THEN RETURN

CLS :LOCATE 0,0:IK=0:INPUT "#43920Y29Yaony%" JA9F7 2 ~MEvF=-10 “;IK
é[SIK =10 THEN CLS :GOTO 14280

USING “#it#. ##”

LOCATE 0, 0:PRINT “1: “;QY (M5)*60:REM ;" L/MIN”;” ;YT (M5) ;" “;YK(M5)
LOCATE 0, 1:PRINT ~ 2 “;QY (M5+1) %60 :REM ; L/MIN”;” “;YT (M5+1) ;™ “;YK (M5+1)

LOCATE 0, 2:PRINT “3: “;QY (M5+2)*x60:REM ;“ L/MIN”;” ;YT (M5+2) ;" “;YK (M5+2)

RT=0:RT=QY (M5) +QY (M5+1) +QY (M5+2)

RT=RT*60/3

LOCATE 0, 3:PRINT “Aq%»Ya%Yay “;RT;” L/MIN”
IF PR=1 THEN 14380

Z$=INKEY$ :IF Z$="" THEN 14360
ég vH$="ENB" THEN RETURN
FOR KZ=0 TO K
FOR I=M5 TO M5+2
IEE;}(TZ):YT(I) THEN KA (PP)=KZ:PP=PP+1:REM PRINT “11 JIKAN”; TT(KZ) ;KZ
NEXT KZ
FOR I=1 TO 3
NE;?(%)=TT(KA(I))2YS(I)=KK(KA(I))ZOS(I):OO(KA(I))ZPRINT “SEN JIKAN™;TS(I)
CLS
PK=1:PRINT “siok {1 #4399 3h4 V7 hY skkkx”
FOR L=1 TO 3
LOCATE O, PK:PRINT PK;“KIME “;TS(L);” SEG”
PK=PK+1
NEXT L
Z$=INKEY$ :IF Z$="" THEN 14700

MR=0:CLS :LOCATE 0, 0:PRINT "¢ 9 1 h4 3 D1 o Y5 =0
LOCATE 0, 1:PRINT " Za9YahanFhyzy =2 ”

INPUT “sek Za9Y3929Fy2944 =>3  “;MR

IF MR=1 THEN GOTO 13980

IF PE=1 THEN PE=0:RETURN

IF MR=2 THEN GOSUB 18720:GOSUB 17820:GOTO 14720
IF MR=3 THEN GOSUB 18720:GOSUB 18240:GOTO 13860
CLS :NE=0:LOGCATE 0, 0:PRINT “sxy"yan =>ENT”
LOCATE 0, 1:PRINT "xxy9a{£y3 4"z =>1 ”

LOCATE 0, 2:PRINT “#x¥¥7u7 =2"

LOCATE 0, 3:PRINT “*<END =3 7

LOCATE 20, 1:PRINT “*x7 -4 / $H=y =>b"

LOCATE 20, 2:PRINT "7 -4 / yant{ =>6"

LOCATE 20, 0:PRINT “#+7 -4 / *m§ =>4"

LOCATE 24, 3:INPUT “ “;NE

IF NE=1 THEN GOSUB 15580:GOTO 14860

IF NE=5 THEN GOSUB 18720:GOSUB 17820:GOTO 14860
IF NE=6 THEN GOSUB 18720:GOSUB 18240:GOTO 14860
IF NE=4 THEN GOSUB 15720:GOTO 14860

RETURN

REM  skstotokokk FE° fIsokokokskofotorok

FOR F=0 TO K-1

FOR H=F+1 TO K

IF QY (F)<=QY (H) THEN 15260

T=QY (H) :QY (H)=QY (F) :QY (F) =T

T=YT(H) :YT(H)=YT (F) :YT(F)=T

T=YK(H) : YK (H) =YK (F) : YK (F) =T

NEXT H

NEXT F

RETURN

REM * nyT4 37/ ¥ 3ok vy M WY M2tttk

M1=0:M2=2:M9=1



FOR U=0
IF QY ()

T0 K-2
<0 OR QY (U+1)<0 OR QY (U+2)<0 THEN

HS=(QY (U) +QY (U+1) +QY (U+2) ) %60

HS=HS/3

M3=QY (U) %60/HS

M4=QY (U+2) *60,/HS
M6=(1-M3) + (M4-1) M9
M7=(1-M1) + (M2-1) *M9

IF M6<M7 LET M5=U:M1=M3:M2=M4

NEXT U
RETURN

CLS :LOCATE 0, 0:PRINT “v9%"4» (SEC)

LOCATE O, 1:PRINT “v%¥ 39939 (L) “ UK
SR=UK*60/UJ

LOCATE 0, 2:PRINT “y9 4%y (L/M) “ SR
Z$=INKEY$ :IF Z$="" THEN 15660

RETURN

REM sekxskk 71" 1Y)/ %A%

L=1:GOSUB 12140
L=1:GOSUB 5840
REM IF AN$<>“100” THEN GOTO 16340

PRINT #1
PRINT #1
FOR L=0

, K+1
,HERk JUYIRARY Ak
TO0 K

CLS :PRINT “sokk 39Y37 7 -4 F0)Fa7 #ek”

PRINT #1
NEXT L

PRINT #1
FOR L=0

, KK (L)

CRkxk (Y739 A9Y39 T8 L odekk”
T0 K

CLS :PRINT “sokkk Y hY T =4 F0HFa  sobokk”

PRINT #1
NEXT L

PRINT #1
FOR L=0

CLS :PRINT skt Y19Y39 7' -4 05729  sorork”

CITD)

CTwkrk Y730 YTHY T -8 SEC ek
T0 K

PRINT #1,Q0Q(L)

NEXT L
PRINT #1

, Tk 4Y7 30 119397 - L/SEC sekk”

PRINT #1,RT

PRINT #1

CTxk 4V 39 FhAvE 3h47 AMEY YagYanT -4 L/MIN sekx”

PRINT #1, UK

PRINT #1

ek Y739 Y9 199397 -5 L oweek”

PRINT #1,UJ

PRINT #1

Cxrk Y739 Y9Y Ay SEC #x”

SR=UK+60/UJ

PRINT #1
PRINT #1
FOR L=1
PRINT #1
NEXT L

PRINT #1
FOR L=1
PRINT #1
NEXT L

PRINT #1
CLOSE #1
RETURN

. SR

Ok 4y a0 Y9Y19Y39 L/MIN s”
10 3

CYS(D)

“aonk (5739 4439304 9% ks’
T0 3
TS

Tk 49730 #1439 304 YT hY wkrk”

REM setstotook T\ 1Y /T =8 7 AL 4 Y ekk

GLS :MC=

30:K=0:UK=0:UJ=0:PED=2:NE=0

GOSUB 25120

INPUT #1

, AAS

K=VAL (AA$)

K=K-1
INPUT #1

, AA$

REM PRINT AA$

FOR L=0
INPUT #1

T0 K
, AA$

YK (L)=VAL (AA$)
NEXT L

INPUT #1

, AA$

REM PRINT AA$

FOR L=0
INPUT #1

T0 K
, AA$

YT (L)=VAL (AA$)
NEXT L

INPUT #1

, AA$

REM PRINT AA$

FOR L=0
INPUT #1

T0 K
, AA$

QY (L)=VAL (AAS$)

15540

“ud



NEXT L

INPUT #1, AA$
REM PRINT AA$
INPUT #1, AA$
RT=VAL (AA$)
INPUT #1, AAS
INPUT #1, AA$
UK=VAL (AA$)
INPUT #1, AA$
INPUT #1, AA$
UJ=VAL (AA$)
INPUT #1, AAS
INPUT #1, AA$
SR=VAL (AA$)
INPUT #1, AA$
FOR L=1 T0O 3
INPUT #1, AA$
YS(L)=VAL (AA$)
NEXT L

INPUT #1, AA$

FOR L=1 TO 3

INPUT #1, AA$

TS(L)=VAL (AA$)

NEXT L

CLOSE #1

GOSUB 17820

CLS LOCATE 0,0: PRINT #43¢3A4#/U1¢U3ﬂ L/MIN “;RT

PRINT “y9y" 4y

PRINT “y9391)3y L UK

PRINT “y9ad%va19yag L/MIN ":SR

éEgINKEY$ “IF Z$="" THEN 17560

LOCATE 0, 1:AN$="":PRINT “#{p 344 =RET {#1104 >1OO

LOCATE 0 2 INPUT “#4nv74 =200

IF AN$=" 200 THEN PE=1:GOSUB 13880:GOTO 17580

IF AN$="" THEN GOTO 17460

GOTO 100

REM To¥

DIM T$(5)

T$(0)="""T$ (1) ="nL"

T$(2)="5%)":T§ (3)="2%4"

TS (4)="74":T$ (5)="1%"

RETURN

REM kTN Y AUF hHZy sekkskork

CLS :KS=0:LOCATE 0, 0:PRINT “3%Ya% (L) Y" hv (SEC) 273y 39 (L/MIN) “
FOR L=0 TO K

KS=KS+1

LOCATE 0, KS:PRINT USING “#it#”;L+1; :PRINT “H4=>";

PRINT USING “###. ###” ;YK (L) ;

PRINT “ “;USING “##t#. ##” ;YT (L) ; :PRINT ~ “USING “#it. ##”;QY (L) %60
[F KS<3 THEN 18020

Z$=INKEY$ :IF Z$="" THEN 17980

ﬁg;?:ELS :LOCATE 0, 0:PRINT “39Y3% (L) Y" hv (SEC) 273y 39 (L/MIN) “
Z$=INKEY$ :IF Z$="" THEN 18040

Ehg LK?zgaLgCATE 0, 0:PRINT “#43939Ya3% (L) Y"1y (SEC) Y29Y39 (L/MIN) “
KS=KS+1:LOCATE 0, KS:PRINT USING “###”;L; :PRINT “#4=>";

PRINT USING “###. ###”;YS(L) ;

PRINT “ “;USING “##t#. ##”,TS(L) ; :PRINT ~ “ USING “#iH. ##”,YS (L) *60/TS (L)

[F KS<3 THEN 18200

Z$=INKEY$ :IF Z$="" THEN 18180
NEXT L

RETURN

REM stk T A1) A9F Va9t ook
CLS :LOCATE 0,0:INPUT “}vuhft) T -4Yamt{  “;NK
GOSUB 18560

LOCATE 7, 2:PRINT ~

AY=YK (NK-1)

LOCATE 7, 2:INPUT “”; YK (NK-1)

KK (NK-1) =YK (NK-1)

IF YK(NK-1)=0 THEN YK (NK-1)=AY
GOSUB 18560

LOCATE 17, 2:PRINT ~ i
LOCATE 17, 2: INPUT “”;YT (NK-1)
TT (NK-1) =YT (NK-1)

QY (NK-1) =YK (NK-1) /YT (NK-1)

QQ (NK-1) =YK (NK-1) /YT (NK-1)
GOSUB 18560




18540 RETURN

18560 REM sokior Y19t4F/ £3ny" sokkiomkok

18580 LOCATE 0, 1:PRINT ° HGUHG(L) ¥" hv (SEC) Ul#Uaﬁ (L/MIN) ”
18600 LOGATE 0, 2: PRINT USING “###”;NK; :PRINT “h4=>"

18620 PRINT USING ### " YK(NK 1)

18640 PRINT ” ” USING ### ## YT(NK 1);

18660 PRINT ~ USING "Rt ## QY(NK 1) %60

18680 LOGATE 0, 3: INPUT +2h ¥ +t 7, ANS

18700 RETURN

18720 REM sk FIE" HIFEPA skorskskokskor

18740 FOR 1=0 TO K

18760 YK (I)=KK(I) :YT(I)=TT (I) :QY (I)=QQ (1)

18780 NEXT I

18800 RETURN

18820 IF KY (I)>KE THEN KY (I)=KE

18840 RETURN

18860 K=0

18880 FOR J=0 TO S

18900 PRINT “avpyfan => “.S8-K

18920 FOR I1=0 TO RR%2

18940 YP(J, I1)=SP(J, I1) :XS=SP (J, II)

18960 [F SW=2 THEN GOSUB 25280

18980 IF SW=2 THEN SP(J, IT)=XW

19000 NEXT 11

19020 K=K+1

19040 NEXT J

19060 RETURN

19080 K=0

19100 FOR J=0 TO S

19120 PRINT “Eb ¥Fay “;S-K

19140 FOR 11=0 TO RR*2

19160 SP(J, ID=YP(J, II)

19180 NEXT II

19200 K=K+1

19220 NEXT J

19240 RETURN

19260 REM  A{£u078% 440y

19280 FOR J=0 TO S

19300 FU(J, 0)=0

19320 FOR K=1 TO RR

19340 FU(J, 0)=FU (J, 0) +FU (J, K)

19360 NEXT K

19380 FU(J, 0) =FU (J, 0) /RR

19400 NEXT J

19420 FOR J=0 TO S

19440 FD=0:SP(J, 0)=0

19460 FOR K=1 TO RR#*2

19480 IF SP(J, K)<>10000 THEN SP(J, 0)=SP (J, 0) +SP (J, K) :FD=FD+1
19500 NEXT K

19520 IF FD<>0 THEN SP(J, 0)=SP (J, 0) /FD

19540 IF FD=0 THEN SP(J, 0)=10000

19560 NEXT J

19580 RETURN

19600 PED=1:GOSUB 25100

19620 K=0:PR=0:GOSUB 22900

19640 IF PR=1 THEN LOCATE 0, 0:INPUT “htun va'n 7&7 Frv41 CH$
19660 IF PR=1 THEN PRINT PRINT :LOCATE 0, 2:PRINT “1-Mn 2-Tu 3—We 4-TH 5-Fr 6-Sa
7-Su “:PRINT =LPRINT

19680 IF PR=1 THEN LOCATE 0, 1:INPUT AItI***/**h V** FH<-39E° “NEN$
19700 IF PR=1 THEN LOCATE 0, 3:INPUT “¥ 2% stk “;JI$

19720 IF PR=1 THEN Y$=LEFT$ (NEN$, 2) :M$=MID$ (NENS, 3, 2) :D$=MID$ (NENS, 5, 2) :W$=RI

GHT$ (NENS, 1) :WE=VAL W$

19740 IF PR=1 THEN LOCATE 0, 3 INPUT ~ bt/t/I C “WT$
19760 CLS :LOCATE 0,0: INPUT /371//7I ;

19780 LOCATE 0, 1: INPUT "pyz19Y3y CC °

19800 IF K=0 THEN LOCATE 0, 2: INPUT "X{?) CM ”,SU

19820 IF PR=1 AND K=0 THEN GOSUB 22960

19840 IF PR=1 THEN GOSUB 22300

19860 SO=1

19880 B=0:PS=0:EP=0:1=0:ES=0:G0U=0:TM=0

19900 FOR WE=0 TO P

19920 A(WE)=0

19940 NEXT WE

19960 A (YR)=1000

19980 P=0:QQ=1:PRINT =PRINT

20000 ZX=0:7ZA=0

20020 RI=0

20040 CLS :BA$=STR$ SH:LOCATE 0, 0:PRINT “Y3hzv/9b+ ”;BA$;
20060 PRINT “ *1 19%F Y *2 Y3hIuf{z1 ”

20080 LOCATE 0, 1:PRINT “b9za%Y3? CC “;:PRINT USING “#t#HHt" .V,



20100 PRINT “ *3 5 -4lty}”

20120 IF K>0 THEN LOCATE 36, 1:PRINT USING “#t#”: QW

20140 IF ZX>0 AND 1>0 AND ES=0 THEN PS=PS-1

20160 IF ZX>0 AND ES=1 AND I<PS THEN PS=P$-1:ES=0

20180 USING “#t##”

20200 LOCATE 0, 2:PRINT “SF" v 91 ;A (0)

20220 IF 1<=1_THEN 20280

20240 IF 1>1 THEN LOCATE 15, 2:PRINT “IT /3 v 9k “:A(I-1) ; :PRINT "~
20260 PRINT QQ

20280 USING "#t##"

20300 LOCATE 30, 3:PRINT “#471 “;K+1

20320 LOCATE 0, 3

20340 PRINT

20360 LOCATE 0, 3

20380 PRINT B:

20400 PX§=""

20420 INPUT “ £ 393" “:PX$

20440 REM INPUT PP

20460 LOCATE 30, 3:PRINT “#471 “;K+1

20480 BEEP 1,5, 700

20500 IF PX$="+2” THEN CLS :GOTO 19760

20520 IF PX$="+3" THEN CLS :GOTO 19860

20540 IF PX$="+1" THEN A(1)=0:B=B-5:1=1-1:P=P-1:ZX=ZX+1:G0TO 20040
20560 A(1)=VAL (PX$)

20580 IF A(0)=0 THEN 20360

20600 YU=1-1

20620 IF YUSO THEN YU=YR

20640 IF A(I)<0 AND ES=1 THEN QQ=Q0-A(I) :QW=QQ:GOTO 25160
20660 IF A(I)=0 THEN A(I)=A(YU) :00=00+1:G0TO 20720

20680 IF A(I)=A(YU) THEN QQ=QQ+1 ELSE QQ=1

20700 IF A(I)=A(0)+1 THEN QW=0Q

20720 IF A()<A(0) AND A(1)<>T AND <2 THEN A(0)=A (1) :ES=0:PS$=0:AZ=1:B=0:1=0:P=0

20740 1F AZ=1 THEN A(1)=0:A(2)=0:A(3)=0:A(4)=0:A(5)=0:AZ=0
20760 REM IF I>0 AND A(I)=1 THEN A(I)=0:B=B-5:1=I-1:P=P-1:ZX=ZX+1:GOTO 18180
20780 REM IF A(I)=2 THEN CLS :GOTO 17920

20800 REM IF A(I1)=3 THEN CLS :GOTO 18000

20820 LOCATE 0, 3:PRINT ~

20840 B=B+b5:P=P+1

20860 IF 1=0 THEN 20940

20880 IF A(I)>A(I-1) THEN ES=1

20900 IF A(I)=A(I-1) AND ES=0 THEN PS=PS+1

20920 IF A(0)=A(I) AND ES=1 THEN GOTO 20960

20940 I=1+1:ZX=0:GOTO 20180

20960 CLS :SY=0:WAIT (0)

20980 IF PR=1 THEN PRINT =PRINT

21000 LOCATE 0, 1:PRINT (K+1); :PRINT “$4 -1ﬁU37/7 749"
21020 LOCATE 0, 2:INPUT ” 3 =2 3H{ =

21040 IF SY=1 OR SY=2 THEN GOTO 21060 ELSE 20960

21060 IF SY=1 THEN GOTO 21320

21080 IF SY=2 THEN PRINT = PRINT :WAIT :GOSUB 22580

21100 IF PR=1 THEN PRINT = PRINT

21120 CLS :VH=0:LOCATE 0, 1:PRINT (K+1);:PRINT “ #4% 7 -4 °
21140 LOCATE 0, 2:PRINT ” * Yaytd = 1 * Y74Y hv/3129922% = 2 7
21160 LOCATE 0, 3:INPUT “ * #4%"3 = 3 * #4h4=»=b = 0K ===> 4 “;VH
21180 IF PR=1 THEN PRINT =LPRINT

21200 IF VH<=0 OR VH>5 THEN 21120

21220 IF VH=5 THEN 21080

21240 IF VH=4 THEN 21320

21260 INPUT "tuE"ay / 7 -4%h “;BN

21280 GOSUB 23000

21300 GOTO 20960

21320 GOU=0

21340 FOR 1=PS TO P-1

21360 GOU=GOU+A (1)

21380 NEXT 1

21400 QE=SH+V/1000

21420 TM=5% (P-PS-1)

21440 EC=GOU/ (P-PS)

21460 LG=EC-A(0)

21480 QY (K)=QE/ (TMxLC)

21500 LOCATE 0, 0:KR$="":ANS$="":CLS

21520 INPUT “#EY-z409%3ah AV=DRET ¥+4=>1 " KR$

21540 IF FF=1 THEN 21660

21560 IF K>0 THEN 21640

21580 IF KR$<>"” THEN 21660

21600 IF KR$="" THEN L=1:GOSUB 12140:L=4:GOSUB 5840

21620 IF KR$="" AND ANS$="1" THEN ANS$="":GOTO 21500 ELSE GOSUB 23320
21640 IF KR$="" AND K>0 THEN GOSUB 23320

21660 IF PR=1 THEN PRINT = LPRINT



21680 IF PR=0 THEN PRINT =PRINT

21700 PRINT K+1;" 544"

21720 IF PR=1 THEN PRINT * ———————— ”
21740 USING “#HH. #”

21760 PRINT “a9Y39 L/SEC ”;QY (K)

21780 PRINT “Ya%Y39 L/7v  ;QY (K) %60

21800 IF JU=3 THEN INPUT “fz #- # 43 “;ANS$
21820 IF FF=1 THEN RETURN

21840 INPUT "$=h %- £ #+3 " ANS$

21860 IF PR=0 THEN WAIT 0 :GOTO 21900

21880 GOSUB 22580

21900 IF K>1 THEN GOSUB 13880 ELSE GOTO 22140
21920 KR$="":1F HJ=1 THEN INPUT “A{%)Y17Y39FE)-2%Y"» OK =DRET NO =Dk

21940 IF KR$<O™” OR  HJ<>1 THEN 22140
21960 PRINT #1, "A{*U4439Y193%”"

“,KR$

21980 PRINT #1, (STR$ QY (M5)+A$) :PRINT #1, (STR$ QY (M5+1)+A$) :PRINT #1, (STR$ QY (M5

+2) +A$)

22000 CC$="aA{%vY19Y39 => “+(STR$ RT)+B$:PRINT #1, CC$
22020 IF PR<>1 THEN 22140

22040 PRINT "aq%u4439)19Y3%"

22060 CC$=STR$ QY (M5)+A$:PRINT CC$

22080 CC$= STR$ QY (M5+1)+A$:PRINT CC$

22100 CC$= STR$ QY (M5+2) +A§:PRINT CC$

22120 CC$="n{%,Y19Y3% => “+(STR§ RT)+B$:PRINT CC$
22140 NE=0:INPUT "END =>1  vy474y 29 =>ENT ";NE
22160 IF NE=1 THEN CLOSE :GOTO 100

22180 CLS :TE=0:INPUT "y3hIy MZa94vy hIsh? h15=>2 HTH=DENT

YhT4y" avhveay” =3 7, 1E

22200 IF IE=3 THEN GOTO 22300

22220 K=K+1

22240 IF IE=0 THEN A(0)=0:GOTO 19880

22260 IF IE=2 THEN A(0)=0:GOTO 19760

22280 GOTO 22180

22300 IF PR=0 THEN WAIT

22320 IF K>0 THEN 22400

22340 PRINT Y$:;”4>”; :PRINT M$;”h"y”; :PRINT D§;”=%"; :PRINT B$ (WE)

22360 PRINT ~

22380 PRINT “#pty n"va' g = ":CH$

22400 PRINT ~ i

22420 USING “#ittttititt”

22440 BA$= STR$ SH:PRINT ~ /371//7F ”BA$

22460 PRINT ~

22480 PRINT “b9zafyay CC “;V

22500 PRINT ~

22520 IF PR=1 THEN RETURN

22540 1E=0:IF PR=0 THEN WAIT O

22560 GOTO 22180

22580 PRINT "937/¢Fé "ZIPRINT USING “#HHt##t" ; SH

22600 PRINT “b9za © “;:PRINT USING “####";V

22620 FOR 1 O TO P-1

22640 USING “#Htit”

22660 IF A(I)<1000 THEN 22800

22680 PRINT )

22700 PRINT “z19Y3% 32 7 A3 “:USING

22720 PRINT

22740 PRINT I«*5;7t" 39

22760 PRINT A(I):” v{HnIzr”

22780 PRINT :GOTO 22860

22800 IF 1=0 THEN PRINT Ix5;”t 39 “;A(I);” v490IR”:GOTO 22860

22820 REM IF A(I-1)<OA(I) THEN PRINT Ix5;7t 39 “;A(I) ;" v{HpnIr”

22840 PRINT Ix5;”t 39 “;A(1);” v4yoIr”

22860 NEXT I

22880 WAIT O:RETURN

22900 CLS :LOCATE 0, 0:PRINT “ #x 7° vy} th sk 7 LOCATE 0, 1:INPUT ~
A =>1 ¥4 =>RET ;PR

22920 IF PR=1 THEN PRINT = LPRINT

22940 GCLS :RETURN

22960 DIM B$ (7) :B$ (1)=" (4" van) “:B§ (2) #) 7 (h39) “:B$ (3)="(243%) ":BS (4) =" (£939) "

)=" (kv39) " B$ (6)=" (M 3#) B§ (1) =" (=
22980 RETURN

23000 REM 7' -4 Yayt{h-7v

23020 CLS :LOCATE O, 1

23040 IF VH=1 THEN INPUT "%a9447 -% “;A(BN/5):GOTO 23200
23060 IF VH=1 THEN INPUT “Ya%t47 -4 “;A(BN/5):GOTO 23300
23080 IF VH=3 THEN 23220

23100 P=P+1

23120 FOR I=P-1 TO BN/5+1 STEP -1

23140 A(I)=A(I-1)

23160 NEXT I

‘B$ (5



23180 INPUT “Ya9t47 -4 “;A(BN/5)

23200 GOTO 23300

23220 P=P-1

23240 FOR I1=BN/5 TO P-1

23260 A(I)=A(I+1)

23280 NEXT I

23300 RETURN

23320 REM skkkkkxkk IV7™ Y £940 sk

23340 IF 1E=0 THEN 23420

23360 PRINT #1, “NA”

23380 CC$=STR$ SH:PRINT #1, CC$:PRINT #1, “9In Y3hIvy /op "~
23400 CC$=STR$ V:PRINT #1,CC$:PRINT #1, “#In Y3hIvy Mza9Y39”
23420 CC$=STR$ (K+1)

23440 CC$=CCH+" 42"

23460 PRINT #1, CC$:PRINT #1,”——————- ”

23480 CC$=STR$ (QY (K) *60)

23500 CC$=CC$+" Yy hu/7v"

23520 PRINT #1, CC$:PRINT #1, “9In Yahyay ~

23540 PRINT #1, STR$ PS:PRINT #1, “#{#uny Y 7 F UM Hp nux ”
23560 PRINT #1, STR$ P:PRINT #1, “9InYH74F yub Bk 339"
23580 FOR 1=0 TO P-1

23600 CC$=STR$ (I*5)+" t° 39 +STR$ A(1)+" v{hnIz ~

23620 PRINT #1, CC$

23640 NEXT I
23660 PRINT #1,”
23680 RETURN
23700 REM IF K>O THEN 21340

23720 REM CC$=Y$+"4y “+M$+"n vy “+D$+"=F"+B$ (WE) :PRINT CC$

23740 REM CC$=LEFT$ (JI$, 2)+"%" “+RIGHT$ (JI§, 2)+"7v":PRINT CC$

23760 REM CC$="#7v4{ => “+CH$:PRINT CC$

23780 REM CC$="#tv1vF C => “+WT$:PRINT CC$

23800 REM CC$="Y391v/9F => “+STR$ SH:PRINT CC$

23820 REM CC$="19=1%Y3 => “+STR$ V:PRINT CC$

23840 INPUT “KOKONIWADAMEYO”;ANS$:RETURN

23860 GOSUB 22900

23880 LOCATE 0, 0:PRINT “sA{t4%vh vt => “;NEN$; :PRINT ~ %Y 14 => “;JI$

23900 LOCATE 0, 1:PRINT “*Y47{77v “ CH$

23920 S1=VAL (LEFT$ (HAS$, 1)) : S2=VAL (RIGHT$ (HA$, 1)) 1 INPUT #1, AAS :SU=VAL (AA$)
23940 BB$="PH="+PH$+"EC="+EC$+"WT="+WT$+ TP="+TP$+" 7h#cm="+AA$ : INPUT #1, AA$
23960 IF T2=0 THEN 24000

23980 LOCATE 0, 2:PRINT “”;T$(S1)+" b5} $7+T$ (S2)+BB$:GOTO 24020

24000 LOCATE 0, 2:PRINT ~”;T$(S1)+BBS$

24020 LOCATE 0, 3:INPUT “¥" 39%/ 19%% 34=RET %} =1 “;ANS$

24040 IF ANS$="1" THEN 100

24060 K=0:FF=1:CLS :GOSUB 25100

24080 INPUT #1, PB$

24100 IF PB$="A{% %439Y1%Y3%" THEN CLOSE :GOTO 100

24120 IF PB$<>”NA” THEN CLS :GOTO 24260

sﬁ}4g112igT #1, AA$ :BA$=AAS :SH=VAL (AA$) : INPUT #1, AA$: INPUT #1, AA$:V=VAL (AA$) :IN
24160 LOCATE 0, 1:PRINT “yahIv/up  ”:BA$

24180 LOCATE 0, 2:PRINT “Fjz1%9Y3% cc “:V

24200 LOCATE 0, 3:INPUT “#9=Y Y43 +=h %+ “;CC$

24220 IF PB$<>"NA” THEN 24260

24240 INPUT #1, AAS

24260 INPUT #1, AAS: INPUT #1, AAS: INPUT #1, AAS

24280 INPUT #1, AA$:PS=VAL (AA$) : INPUT #1, AA$

24300 INPUT #1, AA$:P=VAL (AA$) : INPUT #1, AAS

24320 IF PR=1 THEN PRINT =PRINT

24340 CLS :LOCATE 0, 0:CC$=STR$ (K+1)+"#44VH747 —43333F2% ¥n Y373 “:LOCATE 0, 1:PR

INT CC$
24360 IF PR=1 THEN PRINT =LPRINT
24380 LOCATE 0, 2:PRINT "¥ayzy/9b  "BA$

24400 LOCATE 0, 3:PRINT “pyz1%Y3y cc “;V

24420 FOR I=0 TO (P-1)

24440 INPUT #1, AA$:GOSUB 24840

24460 LOCATE 30, 3:PRINT P-I

24480 NEXT 1

24500 INPUT #1, AA$

24520 GOSUB 20960

24540 IF K>0 AND KR$="" THEN GOSUB 24980:GOTO 24580

ZgZSgOIF KR$="" THEN L=1:GOSUB 12140:0PEN FF$ FOR OUTPUT AS #2:GOSUB 24780:GOSUB
24580 IF PR=1 THEN PRINT =LPRINT :GOSUB 22580

24600 IF K>1 THEN GOSUB 13880 :REM ELSE 21900

24620 1F HJ<>1 THEN 24740

24640 CLS :KR$="":INPUT “A{*vya9Yanti¥)-2#y"» OK =DRET NO =>#h “KR$

24660 IF KR$<>"” THEN 24740

24680 PRINT #2, “AFu4439YanYay”

24700 PRINT #2, (STR$ QY (M5)+A$) :PRINT #2, (STR$ QY (M5+1)+A$) :PRINT #2, (STR$ QY (M5



+2) +A$)

24720 CC$="A{%vY19Y3% => “+(STR$ RT)+B$:PRINT #2, CC$

24740 IF EOF (1) THEN CLS :CLOSE #1:INPUT “774hh" #9Yvy% +=p%-% ~

24760 K=K+1: GOTO 24080

24780 PRINT #2, "ENB” :PRINT #2,” ENB N Iv7 /#/V7Tﬁ :PRINT #2, NEN$:PRINT #2, “9Inaft
1%Uh 9E" 7 PRINT #2, JI$:PRINT #2, "9In 7774/ 15"

24800 PRINT #2, CH$:PRINT #2, “9Iny454¥7>" :PRINT #2, HA$ :PRINT #2, “91ngva9”

24820 PRINT #2,PH$ZPRINT #2,"7IAPH"ZPR[NT #2, EC$:PRINT #2, “91nT v+ 94 “:PRINT #2
CWTS:PRINT #2, “9Ina{ty” :PRINT #2, TP$:PRINT #2, “9In4y”:CC$=STR$ SU:PRINT #2, CC$:
PRINT #2, “9In A4%Y cm” :RETURN

24840 F1=LEN (AA$)

24860 FOR F2=1 TO F1

24880 C$=MID$ (AA$,F2, 1) :REM CLS :PRINT B$

24900 IF C$="79" THEN F3=F2+1

24920 IF C$="3" THEN F4=F2

24940 NEXT F2

24960 C$=MID$ (AAS, F3, (F4-F3)):A(I)=VAL (C$) :RETURN

24980 IF PB$<O”NA” THEN 25040

25000 PRINT #2, “NA”

25020 CC$=STR$ SH:PRINT #2,CC$ZPRINT #2, “9In YahIy /90 7 :CC$=STR$ V:PRINT #2, CC$
:PRINT #2, “91n Y3h1y Mjz19)39”

25040 CC$=STR$ (K+1) :CC$=CC$+"h4+”:PRINT #2, CC$:PRINT #2, "————————

25060 CC$=STR$ (QY (K)*60) : CC$ CC$+ Yy /757 :PRINT #2, CC$:PRINT #2,” ﬁIA )a91)39”:
PRINT #2, (STR$ PS) :PRINT #2, “9In 7 U8 9b #4¥uny” v)” :PRINT #2, (STR$ P) :PRINT #2,”
9INYHTAT Vb b 3Rg”

25080 FOR [=0 TO (P 1) :CC$= STR$ (I*5)+ E"39”+STR$ A(I)+” 34401z “:PRINT #2, CC$:

25100 MC 30:YR= 500 DIM A(YR), SE(MC/Z) RS(MC/Z) LS(MC/2)

25120 A$=" L/SEC”:B$=" L/MIN :DIM QY(MC) YT(MC) YK (MC), QQ (MC), TT (MC) , KK (MC) , QS
3), YS(S) TS (3), KA(MC)

25140 RETURN

25160 IZ —-1xA (1) :PJ=A(I-1)

25180 FOR IW=1 TO IZ

25200 A(I)=PJ

25220 [=1+1:B=B+5:P=P+1

25240 NEXT IW

25260 ZX=0:GOTO 20180

25280 FOR IM=0 TO XL-1

25300 REM PRINT IM, QS (IM), QS (IM+1), QF (IM), QF (IM+1)

25320 REM INPUT “SESS”;TE

25340 IF XS=10000 OR XS<=QF (0) OR XS>QF (15) THEN XW=XS:RETURN

25360 IF SW=0 AND XS<QF (1) AND XS>0 THEN XW=(ZS*XS+3) :GOTO 25600

25380 IF SW=0 AND XS<O AND XS<>-100 THEN XW=(ZS*XS-3) :GOTO 25600

25400 IF SW=0 AND XS>QF (XL) AND XS<>10000 THEN XW=(ZS*XS+3) :GOTO 25600

25420 IF SW=0 AND XS=-100 THEN XW=0:GOTO 25600

25440 IF XS>=QF (IM) AND XS<QF (IM+1) AND IM<14 THEN GOTO 25500

25460 IF XS>=QF (IM) AND XS<=QF (IM+1) AND IM=14 THEN GOTO 25500

25480 NEXT IM

25500 REM PRINT IM, XS, QS (IM), QF (IM)

25520 REM INPUT “TESS”;TE

25540 XW=QS (IM) + (XS—QF (IM))* (QS (IM+1)-QS (IM)) / (QF (IM+1) -QF (IM))

25560 REM PRINT XW

25580 REM INPUT “HENSU”;TE

25600 RETURN



